FiH1F 2:
) KRR S T H i H b F V&

IR EA: 202345 H 15 H EPEE sy 97 BT B
5 H 475 SRR RTRL  B 1 H S5t it PR RBEUA R BUR
B H 45 ‘ -
N PR RIEHA BB LT N RS
DA
T H R LEEHZ 2. EEED 3. UKD 4. BiHED
fge | A, £ ot it | B | BT

T H B4 (JiJe) (JiJo) (JiJo) (JiJe) (3w | G | X
KR

50

BHERLH | WENRBERR AT TR, AW I sEReAR E A, B0 M8k A A
L KOP, REREARAE R, e S AR R

T H AR PTNE | ME | BV | B PR AR HE S AR

A I H 5B TAR R B L ST B AR

Iﬁi E y%% 2 % U%%WTE 2 2 ﬂ:ﬁ_ 2 ﬁ &ﬁz‘fﬁﬁ
] s MFIT o

Iy PRLII S5 BRI R 1 43
ok 45 1] FEE 3 3 2. T5H BRI 14
3. HHIEHATEIERER 1 4. B A5

AW SRS N B A7 DT 2 7. 3

LK | 2 ) e,
WEH Iy SBATH T 3 4
13 41 BTN | 4 4 2. HUR (WHCHSRIERR) 14, BA
T84
135 S0 AR A BRI 1 4, BR— T30 0. 5
HARR | 4 | 4 o AL

2+ GUIHRITE 1 77, AFEH 0.5 73,
3. HEm RSB HE bRTE 2 2, @I 1




T H F 5 H b 1:

—Z% | —2K B E  |[FE¥e| &% it | Bz S
— — —_— — — N, VAN
by | fEbr | (Z46860) | bE | BB | 2 |
%Sz N J1TEJEI1000 AJ1000 A 5 B - ‘
T EIN 1o B = ST 5o R A T okl
HE 1§$ég'] 5T | 51 | 5 0. SIS RRAME R S SR BOT Y
B 15 43— £ (15 4 + ZZFSHRAN 0, D4 T B
Wé%%%% swe | 1w | 2 .
PRI Je 55 Il 5
Eaa*&%ﬂ%ﬁgglm% 100% | 12 1. R4 = bs 58 U & IV E SR
A}H)ﬁgh 0. =R = RS AR BT B
PR 19 4y (12 45+ =BG HO, T4 R 4
sk | s
40 71 BRI | 95% | 95% | 6 T
" &) 1o R0 = AT 52 R R VT k)
b6 4 0 = ARRR A I = S AR KO E (6
& U SRR AR, TR R B R
s 1o R0 = GG 5 R A HO VAT k)
=1 0 S ARRR MR = A AR RO E (7
& U SRR AR, TR R B R
TiH ‘ 1o B = bR ST B 5 R 28 T
gk 2Rk 0. = ARRR A E R = AR A BT
85 47 7510 4> (10 43 = ZR/IHFENED, & TNRE B
%
PREEAR R NBE
‘ kg | 100 | 100% ) 4 1 SRS ARSI SRR BT VR
ﬁ%%i@&EA%@J 0. = IRIEFR M 1% = GRS AR AN BT
" 2510 4% L 95% | 95% | 3 (10 70+ =Zahn N E0, VU TN (R B
A = 4.
Ei=.2 ARESEE 95% | 95% | 3
3597 1o RS SR PRSI AR I e E VR
2SRk 0. = AR = SRR BT B
i 10 43 (10 70+ = N0, W& HRE
%
TR R R 9
e RS AR LRGSR R Y YR
Eﬂﬁgﬁ SRR = BN BT R E (5
od r+ SAGEANED, TUE R R
B B g
k%% W%%TWWXE%%E‘1M% 100% | 10 1o SR = G bR 25 1 (0 A R
ey el = 0. SIS EROME R S SR BOT Y
i = (10 49+ ZZIEHEAKO, TU& TR
10 45 |BE10 % H.
&4 | 85 | 85 82
Pl 1. TRhR AR VSR IR EUR H bR IR A S, ARG

2, HEAR AR ERIE, PSR AR ST R R, AR MO T AT O, (R4S
BRAFR A o A R T TR — i 40

RAMHE X E]: 100%—81%. 80%—51% 50%—0%.

VX E BRI SRS B B BT A IR FR 44 FR I B X SR 7€ K 7T 23 EE D
 XTEVERRMETE SR, 23O = R SEBTUY, A I BT R AOR, RIEHHI 2 X

~BHAZA CEREEART K, SRR CHEEERT AT, SR ETETEE. f B



WHAEZ=Z “EEHKR”, Hir 1 B804, HFs2 B 604y, HAx 3 HiF 75 4, ZUiHSK
845 K: (80+60+75) —3=71.6 4%, WU&EFHNIl 72 4%,



